
9$/9(6���$/3+$�/,67
+($',1*�(;3/$1$7,216��
6WN �� ��$FWXDO�$9$,/$%/(��VWRFN��IRU�VDOH��FXUUHQW�DW�ODVW�SK\VLFDO�VWRFN�FKHFN�DQG�VXEMHFW�WR�FKDQJH�ZLWKRXW�QRWLFH�
8Q �� ��8QLW�RI�VXSSO\���SULFLQJ��(� �(DFK��0� �0HWUH��0�� �6TXDUH�0HWUH��.J� �.LORJUDP�HWF��
3ULFH �� ��/LVW�3ULFH�IRU���8QLW�LQ�1=���TXDQWLW\�SULFHV�ZLOO�EH�VXSSOLHG�EDVHG�XSRQ�FXVWRPHU�WRWDO�RUGHU�UHTLUHPHQWV�

1RWH���,WHPV�SUHVHQWO\�ZLWKRXW�SULFHV�DUH�LQ�SUHSHUDWLRQ�IRU�FRVWLQJ�DQG�SULFHG�UHDG\�IRU�VDOH�
-DQ1R �� ��-RLQW�$UP\�1DY\�5HIHUHQFH�1XPEHU��RU�QHDU�HTXLYDOHQW�
(8521R� ��(XURSHDQ�,QGXVWU\�5HIHUHQFH�1XPEHU��RU�QHDU�HTXLYDOHQW�
2WKHU1R�� ��2(0�RU�EUDQG�VSHFLILF�UHIHUHQFH�QXPEHU��RU�QHDU�HTXLYDOHQW�
&91R �� ��%ULWLVK�0LQLWDU\�DQG�6HUYLFHV�UHIHUHQFH�QXPEHU��RU�QHDU�HTXLYDOHQW�
%R[� �� ��&$6$
V�6WRFN�%R[�1XPEHU�LQ�ZKLFK�VWRFNV�DUH�VWRUHG
/RFDWLRQ� ��&$6$
V�FRGHG�ORFDWLRQ�IRU�WKH�6WRFN�%R[HV
,WHP �� ��'DWD%DVH�OLVWLQJ�LQGH[��/LQH�,WHP��UHIHUHQFH�QXPEHU

32�%2;���������3HWRQH
3KRQH��������������
)$;���������������

(�PDLO� �VDOHV#FDVD�FR�Q]

2WKHU1R 'HVFULSWLRQ 3ULFH 8Q 6WN,WHP %UDQG-DQ1R (XUR1R &Y1R3�, /RFDWLRQ%R[�
'%�75,2'( ����� ( �� 7RVKLED�61�*75 (&&�� &9���75, 5�&���

%�� 'RXEOH�WULRGH ����� ( �� 5D\WKHRQ�61�*7% (&&�� &9����75, 5�&����

%�� 'RXEOH�7ULRGH ����� ( �� 726+,%$�61�*7% (&&�� &9����75, 5�&����

%�� 'RXEOH�7ULRGH ����� ( �� $:9�61�*7$ (&&�� &9����75, 5�&����

%����&9� 'RXEOH�7ULRGH ����� ( �� %ULPDU�61�*7 (&&�� &9����75, -��������

%����&9� 'RXEOH�7ULRGH ����� ( �� 0XOODUG�61�*7 (&&�� &9����75, -��������

%����&9� 'RXEOH�7ULRGH ����� ( �� 3KLOLSV�61�*7 (&&�� &9����75, -��������

%�� 'RXEOH�7ULRGH ����� (� 0:7�61�*7 (&&�� &9����75, 5�&����

'%/�75,2'( ����� ( �� +DOWURQ�61�*7 (&&�� &9���75, 027���

63�� 'RXEOH�7ULRGH��DFWXDO
VWRFN�WR�EH�YHULILHG�

����� ( ��� 1%�61� (&&�� &9���75, 5�&�����

'RXEOH�75,2'(��RFWDO
EDVH��ZKLWH�ER[

����� ( ��� 1%�61� (&&�� &9���75, 5�&����

��5���5 9DOYH�5&$�2% ����� ( ��� 5&$�61�75, 5�&����

'%/�75,2'( ����� (�� �61�*7 027

����� (�� �61� &9��� '

Y ���� ( ��� $:$�61� &9���� 791=���

���� ( ��� 0:7�61� &9���� 791=���

����� (�� 5&$�61� 5�&����

6XP�6WN���7RWDO�3LHFHV��� �

3DJH��

:HG��-XQ���������
9$/9(6���/22.�83�	�$/3+$�/LVWLQJ

��������

�3DJH�

5HSRUW�1DPH���9$/B/6��56/�����������$:'


